ORIGINAL RESEARCH



Product life cycles, product innovation and firm growth

Hiroki Murakami¹

Received: 30 January 2023 / Accepted: 8 September 2023 © The Author(s) 2023

Abstract

This paper studies research and development (R&D) for product innovation of firms faced with "product life cycles." We represent the concept of product life cycles with bounded revenue and profit functions and describe R&D for product innovation as an activity to control the "birth rate of a new product" (i.e., the probability of product innovation). We then derive the optimal level of R&D, corresponding to the optimal birth rate of a new product, and show that the growth rate of the firm's expected total revenue converges to the optimal birth rate of a new product in the long run.

Keywords Firm growth · Birth rate of products · Product innovation · Product life cycles

Mathematics Subject Classification O31 · O32 · O41

1 Introduction

Economic growth is usually taken as a supply-side phenomenon; the endogenous growth theory (cf. Romer, 1990; Grossman&Helpman, 1991; Jones, 1995; Aghion&Howitt, 1998) explains economic growth as a consequence of technical progress driven by profit-seeking firms' research and development (R&D) (including human capital accumulation). Certainly, there is no doubt that technical progress, through the improvement of the supply side, has made a great contribution to economic growth (cf. Solow, 1957), but the role of the demand side in economic growth should not be ignored; for stable economic growth, the growth of the demand side should keep pace with that of the supply side.¹

¹ The importance of the demand side in economic growth is acknowledged; (Solow, 1997, pp. 231–232) states as follows:

One major weakness in the core of macroeconomics as I have represented it is the lack of real coupling between the short-run picture and the long-run picture. Since the long run and the short run merge into one another one feels they cannot be completely independent. There are some obvious, perfunctory connections: every year's realized investment gets incorporated in the long-run model. That is obvious. A more interesting question is whether a major episode in the growth of potential output can be driven from the demand side.

Hiroki Murakami hmura@tamacc.chuo-u.ac.jp

¹ Faculty of Economics, Chuo University, 742-1, Higashi-Nakano, Hachioji, Tokyo 192-0393, Japan



Fig. 1 Product life cycles

The Schumpeterian growth theory (cf. Seggerstorm et al., 1990; Grossman & Helpman 1991, chap. 12), on the other hand, emphasizes the role of product innovation in economic growth based on the fact that newly invented products, providing a higher utility for consumers, replace existing ones; it examines the implications of "product life cycles" on R&D and economic growth. It contributes to the development of the growth theory shedding a light on the important demand-side phenomena of product life cycles, but it ignores some of their notable features: products have different phases in their life cycles.² The concept of product life cycles, established as a stylized fact in management sciences (cf. Day, 1981), argues that each innovative product (good or service) has its life cycle composed of the four typical phases: Introduction, Growth, Maturity and Decline (Fig. 1). In the Schumpeterian growth theory, however, the distinctions between the four phases are not taken seriously.

This paper aims to take seriously the concept of product life cycles in a framework of the endogenous growth theory; it examines the R&D and growth processes of firms faced with product life cycles. By so doing, it attempts to provide a demand-side model for economic growth. To focus on the impact of product life cycles on the demand side through product innovation, "process innovation" is ignored; it is a supply-side phenomenon which is mainly concerned with the improvement of productivity.

The remaining part of this paper is organized as follows. Section 2 presents our model; we describe the life cycle of each product with bounded revenue and profit functions and treat the firm's R&D for product innovation as an activity to control the "birth rate of a new product" (i.e., the probability of product innovation). Section 3 derives the optimal level of R&D corresponding to the optimal birth rate of a new product. We also show that the growth rate of the firm's expected total revenue converges to the optimal birth rate of a new product; the long-run determinant of firm growth is the intensity of product innovation.³ Sect. 4 concludes this paper. Appendices provide the proofs for the propositions in the main text.

 $^{^2}$ There are some exceptional studies in the Schumpeterian growth theory: Dinopoulos and Waldo (2005); Klein and Şener (2021). The diffusion process of new products is examined in them, and the diffusion rate is also endogenously explained in the latter. However, they only consider the Introduction (or Takeoff) phase. In a different context, Aoki and Yoshikawa (2007) and Murakami (2017) study models of economic growth with "demand saturation" (closely related to product life cycles), but they fail to consider the Decline phase. Also, Klepper (1996) explains the phenomena of product life cycles through firms' entry and exit, but he does not study their implications on economic growth or R&D.

³ This is consistent with the result of Artz et al. (2010) that new product announcements (product innovations) have a positive (and significant) effect on sales growth. Based on their empirical analysis, they also suggest that continual product innovations can improve firm performance.

2 The model

This section presents a model of product life cycles and product innovation. The model is similar to those of Aoki and Yoshikawa (2007, chap. 8) and Murakami (2017), but it is more general than them because it allows for the Decline phase of product life cycles.

2.1 Product life cycles

To formalize the concept of product life cycles, it is assumed that the revenue (measured in value added) and profit of each kind of product depend on the "age" of this product or the time elapsing from its birth; we assume that, at time *t*, the revenue and profit of a product which appears in the market as a consequence of product innovation at time $s \le t$, denoted by y_s^t and π_s^t , respectively, are represented in the following forms⁴

$$y_s^t = y(t-s),\tag{1}$$

$$\pi_s^t = \pi(t-s). \tag{2}$$

The following fairly weak assumption is made on the revenue and profit functions.⁵

Assumption 1 $y : \mathbb{R}_+ \to \mathbb{R}_+$ is bounded with y(0) > 0 and differentiable with a bounded (first) derivative, and $\pi : \mathbb{R}_+ \to \mathbb{R}$ is bounded and continuous.

The boundedness of the revenue and profit functions (and the derivative of the former) is consistent with the concept of product life cycles as illustrated in Fig. 1; due to the boundedness, firm growth can only be sustained by creations of new products through product innovation. Also, y(0) > 0 and $y(t) \ge 0$ are based on the fact that a product is produced at its birth (y(0) > 0) but its production may eventually be stopped (y(t) = 0) due to its obsolescence; some aspects of production life cycles (the Introduction and Decline phases) are reflected.

2.2 Product innovation

Product innovation (inventions of a new product) is a successful outcome of R&D. We may then describe R&D (for product innovation) as an activity to control the probability of product innovation. Intensive R&D increases the probability of product innovation, but it does not always result in success. To describe this, we represent a product innovation as a random event. Also, a new product is usually invented by a "new combination" of knowledge on the existing products (cf. schumpeter, 1934, chap. 2). Then, the number of the firm's existing products (outcomes of past successful product innovation) is assumed to have a positive influence on the probability of future product innovation; the number of existing products is

$$\pi(t-s) = \pi(y(t-s)).$$

⁴ Strictly speaking, the revenue and profit functions, y and π , should be interpreted as the time paths of *expected* revenue and profit from each product, respectively; psychological factors such as "animal spirits" (cf. Keynes, 1936, chap. 12) and "entrepreneurship" (cf. schumpeter, 1934, chap. 2) may be reflected in these functions. Of course, we can think that these functions relate each other in the following fashion:

⁵ Under Assumption 1, the logistic demand function in Aoki and Yoshikawa (2007) and Murakami (2017) can be included as a special case of our revenue function.

assumed to be proportional to the stock of knowledge on product innovation, accumulated through learning by doing (cf. Arrow, 1962). Thus, we assume that, when the firm produces N kinds of products at time t (i.e., when it invented N kinds of products up to time t), it succeeds in inventing a new product in the period between t and $t + \Delta t$ with the probability $\lambda(t)N\Delta t$, where Δt is an infinitesimal time and $\lambda(t) \ge 0$ is the intensity of product innovation; λ is called the "birth rate of a new product" in what follows.⁶

Let P(N, t) be the probability that the firm has N (distinct) types of products at time t. Then, since a new product is invented between time t and $t + \Delta t$ with the probability $\lambda(t)N\Delta t$, the change in P(N, t) in the time interval $(t, t + \Delta t)$ can be given by

$$P(N, t + \Delta t) - P(N, t) = \lambda(t)(N-1)P(N-1, t)\Delta t - \lambda(t)NP(N, t)\Delta t + o(\Delta t).$$

Dividing both sides by Δt and letting $\Delta t \rightarrow 0$, we obtain

$$\dot{P}(N,t)\left(=\frac{\partial P}{\partial t}(N,t)\right) = \lambda(t)(N-1)P(N-1,t) - \lambda(t)NP(N,t).$$
(3)

The solution of this equation is given as follows.

Lemma 1 If $P(N_0, 0) = 1$ (i.e., if the number of product types at time 0 is N_0), then

$$P(N,t) = \frac{(N-1)!}{(N_0-1)!(N-N_0)!} \left[\exp\left(-\int_0^t \lambda(s)ds\right) \right]^{N_0} \left[1 - \exp\left(-\int_0^t \lambda(s)ds\right) \right]^{N-N_0},$$

for $N > N_0$.

Proof See Appendix A.

2.3 Expected total profit

It is seen from Lemma 1 that the expected total profit at time t, denoted by $\Pi(t)$, is given by

$$\Pi(t) = \sum_{i=1}^{N_0} \pi(t - s_i) + \sum_{N=N_0}^{\infty} \int_0^t \lambda(s) N P(N, s) \pi(t - s) ds$$

$$= \sum_{i=1}^{N_0} \pi(t - s_i) + \int_0^t \lambda(s) \sum_{N=N_0}^{\infty} N P(N, s) \pi(t - s) ds,$$
(4)

where $s_i \leq 0, i = 1, ..., N_0$, are the times when products existing at time 0 were invented.

Let L(t) be the expected number of product types that the firm produces at time t. The following lemma provides a useful expression for L(t).

Lemma 2

$$L(t) = \sum_{N=N_0}^{\infty} NP(N, t) = N_0 \exp\left(\int_0^t \lambda(s) ds\right).$$

⁶ It may be argued that the more successful product innovations there have been, the fewer opportunities for product innovation there will be in the future; innovation opportunities are limited. It is, however, empirically demonstrated that the number of patents that firms already own has a positive (and significant) effect on new product announcements (product innovations) (cf. Artz et al. 2010); this supports our assumption that the stock of knowledge on product innovation, reflected by the number of existing products, positively affects the probability of product innovation.

Proof See Appendix **B**.

luct types L changes at the rate of

Lemma 2 implies that the expected number of product types L changes at the rate of λ ; this is the reason why λ is called the birth rate of a new product. Since the stock of knowledge on product innovation is proportional to the number of product types as argued above, the expected number of product types L can be labeled as the "expected stock of knowledge (on product innovation)."⁷

It then follows from (4) and Lemma 2 that

$$\Pi(t) = \sum_{i=1}^{N_0} \pi(t - s_i) + \int_0^t \lambda(s) L(s) \pi(t - s) ds$$

= $\sum_{i=1}^{N_0} \pi(t - s_i) + N_0 \int_0^t \lambda(s) \exp\left(\int_0^s \lambda(\tau) d\tau\right) \pi(t - s) ds.$ (5)

This implies that the expected total profit Π is raised by an increase in the expected stock of knowledge *L*.

2.4 Expected R&D expenditure

Since the objective of R&D is to raise the probability of product innovation, R&D may be defined as the activity to control the birth rate of a new product λ . Thus, we define an R&D plan as a time path of the birth rate of a new product $[\lambda(t)]_{t=0}^{\infty}$.

Regarding R&D plans, it is costlier to increase the birth rate of a new product λ . We may then assume that, for each existing product type, the expenditure on R&D associated with the (target) birth rate of a new product λ is $\varphi(\lambda)$, which is the cost for setting the birth rate of a new product to λ at each moment of time; φ is called the R&D expenditure function in what follows.

Following Murakami (2017), the following assumption is made on the R&D expenditure function.

Assumption 2 $\varphi : \mathbb{R}_+ \to \mathbb{R}_+$ is twice continuously differentiable with

$$\varphi(0) = 0, \ \varphi'(\lambda) > 0, \ \varphi''(\lambda) > 0,$$

for all $\lambda \geq 0$.

Given that a new product is invented from the existing products, the expected total expenditure at time t along an R&D plan $[\lambda(t)]_{t=0}^{\infty}$ is equal to the product of the expenditure associated with the birth rate of a new product λ or $\varphi(\lambda)$ and the expected number of product types L. It then follows from (2) that the expected total expenditure at time t can be given by

$$\Phi(t) = \sum_{N=N_0}^{\infty} \varphi(\lambda(t)) N P(N, t) = \varphi(\lambda(t)) L(t) = N_0 \varphi(\lambda(t)) \exp\left(\int_0^t \lambda(\tau) d\tau\right), \quad (6)$$

where Φ denotes the expected total expenditure (on R&D).

The relationship between the expected stock of knowledge L and the birth rate of a new product λ is similar to that between the stock of capital K and the rate of capital accumulation

⁷ Grossman and Helpman (1991, p. 58) also define the number of product varieties as the stock of knowledge capital.

z. Thus, the expected total expenditure Φ may be seen as the counterpart of the effective cost (including adjustment cost) of investment; the R&D expenditure function φ has the same properties as those of the effective (adjustment) cost function (cf. Uzawa, 1969).

2.5 The R&D planning problem

The expected net profit maximization problem can be formulated as follows:

$$\max_{[\lambda(t)]_{t=0}^{\infty}}\int_{0}^{\infty}[\Pi(t)-\Phi(t)]e^{-\rho t}dt,$$

which, by using (5) and (6), becomes

$$\max_{[\lambda(t)]_{t=0}^{\infty}} \int_{0}^{\infty} \left[\sum_{i=1}^{N_{0}} \pi(t-s_{i}) + N_{0} \int_{0}^{t} \lambda(s) \exp\left(\int_{0}^{s} \lambda(\tau) d\tau\right) \pi(t-s) ds - N_{0} \varphi(\lambda(t)) \exp\left(\int_{0}^{t} \lambda(\tau) d\tau\right) \right] e^{-\rho t} dt,$$
(7)

where ρ is a positive constant that represents the interest rate. The optimal R&D plan can be derived as a solution of (7).

The times when products existing at the planning time 0 were invented, s_i , $i = 1, ..., N_0$, have no influence in (7); we may assume that $s_i = 0$ for all $i = 1, ..., N_0$. It is then seen that the maximand of (7) is proportional to the original number of product types N_0 ; we may further assume that the original number of product types N_0 is unity. Thus, Problem (7) can be simplified as

$$\max_{[\lambda(t)]_{t=0}^{\infty}} \int_{0}^{\infty} \left[\pi(t) + \int_{0}^{t} \lambda(s) \exp\left(\int_{0}^{s} \lambda(\tau) d\tau\right) \pi(t-s) ds - \varphi(\lambda(t)) \exp\left(\int_{0}^{t} \lambda(\tau) d\tau\right) \right] e^{-\rho t} dt.$$
(8)

3 Analysis

This section analyzes Problem (8) to derive the optimal birth rate of a new product and show that the growth rate of the firm's expected revenue converges to it.

3.1 The optimal R&D plan

Let

$$V = \int_0^\infty \left[\pi(t) + \int_0^t \lambda(s) \exp\left(\int_0^s \lambda(\tau) d\tau\right) \pi(t-s) ds -\varphi(\lambda(t)) \exp\left(\int_0^t \lambda(\tau) d\tau\right) \right] e^{-\rho t} dt.$$
(9)

Suppose that the firm changes the original R&D plan so that the birth rate of a new product λ is increased by the amount of $\Delta\lambda$ in the time interval $(t, t + \Delta t)$, where $\Delta\lambda$ and Δt are both infinitesimal values. Let ΔV be the resultant change in V due to the change in the R&D

plan:

$$\begin{split} \Delta V &= \int_{t}^{t+\Delta t} e^{-\rho u} \int_{t}^{u} \Big[(\lambda(s) + \Delta \lambda) \exp\left(\int_{0}^{s} \lambda(\tau) d\tau\right) e^{\Delta \lambda(s-t)} - \lambda(s) \exp\left(\int_{0}^{s} \lambda(\tau) d\tau\right) \Big] \\ \pi(u-s) ds du \\ &+ \int_{t+\Delta t}^{\infty} e^{-\rho u} \int_{t}^{t+\Delta t} \Big[(\lambda(s) + \Delta \lambda) \exp\left(\int_{0}^{s} \lambda(\tau) d\tau\right) e^{\Delta \lambda(s-t)} - \lambda(s) \exp\left(\int_{0}^{s} \lambda(\tau) d\tau\right) \Big] \\ \pi(u-s) ds du \\ &+ \int_{t+\Delta t}^{\infty} e^{-\rho u} \int_{t+\Delta t}^{u} \lambda(s) \exp\left(\int_{0}^{s} \lambda(\tau) d\tau\right) (e^{\Delta \lambda \Delta t} - 1) \pi(u-s) ds du \\ &- \int_{t}^{t+\Delta t} e^{-\rho u} \Big[\varphi(\lambda(u) + \Delta \lambda) \exp\left(\int_{0}^{s} \lambda(\tau) d\tau\right) e^{\Delta \lambda(u-s)} \\ &- \varphi(\lambda(u)) \exp\left(\int_{0}^{u} \lambda(\tau) d\tau\right) \Big] ds du - \int_{t+\Delta t}^{\infty} e^{-\rho u} \varphi(\lambda(u)) \\ \exp\left(\int_{0}^{u} \lambda(\tau) d\tau\right) (e^{\Delta \lambda \Delta t} - 1) ds du. \end{split}$$
(10)

Economic reasoning implies that along an optimal R&D plan $[\lambda^*(t)]_{t=0}^{\infty}$ (if it is an inner solution), ΔV must converge to 0 as $\Delta\lambda\Delta t \rightarrow 0$; along an optimal R&D plan, the marginal gain by a change in the R&D plan or the first three terms of the right-hand side of (10), must be equal to the marginal loss or the last two terms.

The following proposition presents a necessary condition for an optimal R&D plan.

Proposition 1 Let Assumptions 1 and 2 hold. Assume that the following condition is satisfied for all $t \ge 0^8$:

$$\lambda(t) < \rho. \tag{11}$$

If there exists a solution of (8), $[\lambda^*(t)]_{t=0}^{\infty}$, with $\lambda^*(t) > 0$ for all $t \ge 0$, then

$$\dot{\lambda}^*(t) = \frac{1}{\varphi''(\lambda^*(t))} [\varphi'(\lambda^*(t))(\rho - \lambda^*(t)) - (r - \varphi(\lambda^*(t)))], \tag{12}$$

where⁹

$$r = \rho \int_0^\infty \pi(t) e^{-\rho t} dt.$$
(13)

Proof See Appendix C.

We can rewrite (13) as follows:

$$r = \rho \int_t^\infty \pi(\tau - t) e^{-\rho(\tau - t)} d\tau.$$

⁹ It follows from Assumption 1 that r is properly defined:

$$|r| \le \rho \int_0^\infty |\pi(\tau)| e^{-\rho\tau} d\tau \le \rho \int_0^\infty k e^{-\rho\tau} d\tau = k,$$

where *k* is the supremum of $|\pi|$ (Assumption 1).

Deringer

 $^{^{8}}$ Condition (11) is necessary (but not sufficient) for Problem (8) to be properly defined; the maximum of (8) may be unbounded without it. It plays the role of the transversality (terminal) condition for (8).

Fig. 2 Optimal R&D plan



Given that $\pi(\tau - t)$ is the instantaneous profit obtained at time τ from a product which is invented by (expected) product innovation at time *t*, the right-hand side is equal to the product of the interest rate ρ and the (expected) discounted present value of profit (evaluated at time *t*). Then, *r* is the (expected) average profit through the product life cycle, which is common among products regardless of when they are invented (due to Assumption 1); it is also the (expected) profit obtained from a new product innovation. The expected stock of knowledge *L* is, on the other hand, increased by one through a new product innovation. Thus, *r* can be regarded as the "profit rate" on expected stock of knowledge (cf. Murakami, 2017).

The conclusion of Proposition 1 can be sharpened as follows.

Theorem 1 Under the hypotheses of Proposition 1, the solution of (8), if it exists, is equal to the constant λ^* for all $t \ge 0$ such that

$$\begin{cases} [r - \varphi(\lambda^*)]/(\rho - \lambda^*) = \varphi'(\lambda^*) & \text{if } r/\rho > \varphi'(0) \\ \lambda^* = 0 & \text{if } r/\rho \le \varphi'(0). \end{cases}$$

Proof See Appendix C.

It is seen from Theorem 1 that the birth rate of a new product corresponding to the optimal R&D plan, λ^* , can be illustrated as in Fig. 2. It also shows that λ^* is positive (only) if

$$\frac{r}{\rho} = \int_0^\infty \pi(t) e^{-\rho t} dt > \varphi'(0).$$
(14)

The left-hand side is the discounted present value of the profit from a new product or the "marginal benefit" of R&D, while the right-hand side is the marginal expenditure on R&D evaluated at $\lambda = 0$. Thus, Theorem 1 implies that the firm does not invest on R&D unless its marginal benefit is larger than its marginal cost.

Theorem 1 can also be interpreted from a viewpoint of Tobin's (1969) q theory. Given that r is the profit rate on expected stock of knowledge, $[r - \varphi(\lambda^*)]/(\rho - \lambda^*)$ is the counterpart of Tobin's q in our R&D investment model; the R&D expenditure function φ corresponds to the effective cost function for investment (cf. Uzawa, 1969) and Tobin's q theory can be explained by the adjustment cost theory of investment (cf. Yoshikawa, 1980; Murakami 2016). Indeed, as the last paragraph indicates, the firm does not engage in R&D unless the ratio r/ρ exceeds the threshold value $\varphi'(0)$; this is similar to Tobin's q theory, which argues that capital investment is not carried out unless the q ratio, the ratio between the profit rate on capital and the interest rate, exceeds the threshold value 1.

3.2 Firm growth

It is seen from (7) that the expected total revenue along the optimal R&D plan at time t, denoted by Y(t), can be calculated as

$$Y(t) = \sum_{i=1}^{N_0} y(t - s_i) + \int_0^t \lambda^* \sum_{N=N_0}^\infty NP(N, s)y(t - s)ds$$

= $\sum_{i=1}^{N_0} y(t - s_i) + N_0\lambda^* e^{\lambda^* t} \int_0^t y(\tau)e^{-\lambda^* \tau}d\tau.$ (15)

If Y(t) > 0,¹⁰ the growth rate of the expected total revenue, denote by g, is given by

$$g(t) = \frac{\dot{Y}(t)}{Y(t)} = \lambda^* + \frac{\lambda^* [N_0 y(t) - \sum_{i=1}^{N_0} y(t - s_i)] + \sum_{i=1}^{N_0} \dot{y}(t - s_i)}{Y(t)}.$$
 (16)

In what follows, we refer to g as the growth rate.

If the optimal birth rate of a new product λ^* (exists and) is positive, it can be proved that the asymptotic value of the growth rate g is equal to λ^* .

Theorem 2 Let Assumption 1 hold. If there exists a positive solution of (8), $\lambda^*(t) = \lambda^* > 0$ for all $t \ge 0$, then g(t) converges to λ^* as $t \to \infty$.

Proof See Appendix E.

Theorem 2 implies that the long-run growth rate is equal to the (optimal) birth rate of a new product λ^* ; firm growth is ultimately determined by the intensity of product innovation. This is a natural consequence because the revenue of each product is bounded (and population growth is absent); the firm must continue R&D activities for sustainable growth in the presence of product life cycles.

Our model has explained some demand-side growth processes: the growth of corporate revenue is constrained by product life cycles but can be driven by product innovation. It can provide a demand-side growth theory with microeconomic foundations; it is also consistent with the Keynesian growth theory (cf. Pasinetti, 1981).

3.3 A numerical example

This subsection gives a numerical example to illustrate the main idea of our analysis.

$$Y(t) = \sum_{i=1}^{N_0} y(t - s_i) = 0.$$

If $\lambda^* > 0$, on the other hand, the positivity of Y is ensured at least for all t > 0:

$$Y(t) \ge N_0 \lambda^* e^{\lambda^* t} \int_0^t y(\tau) e^{-\lambda^* \tau} d\tau > 0$$

due to y(0) > 0 and the continuity of y (cf. Appendix E).

¹⁰ If $\lambda^* = 0$, it is possible under Assumption 1 that for some $t \ge 0$

It is assumed, following Aoki and Yoshikawa (2007) and Murakami (2017), that the diffusion (ownership) rate of a product which is invented at time $s \le t$, denoted by d, depends on the age t - s and is described as follows¹¹:

$$d(t-s) = \frac{\alpha e^{v(t-s)}}{1-\alpha + \alpha e^{v(t-s)}},$$
(17)

where $\alpha < 1$ and v are positive constants which stand for the initial diffusion rate and the diffusion speed of each product, respectively; it is the solution of the following differential equation with $d(0) = \alpha$:

$$\dot{d}(t-s) = vd(t-s)[1-d(t-s)].$$

Suppose that the size of population and the price of each product are constant over time; they are both normalized as unity. Given that the diffusion rate d is the share or number of people who have already purchased a product, the instantaneous demand for each product, which can be identified with the instantaneous revenue y, is equal to the number of people who newly purchase the product at time t or the time derivative of d:

$$y(t-s) = \dot{d}(t-s).$$

It then follows from (17) that

$$y(t-s) = \frac{\alpha(1-\alpha)ve^{v(t-s)}}{[1-\alpha+\alpha e^{v(t-s)}]^2}.$$
(18)

We assume that the capital (profit) share (i.e., the ratio between profit and revenue (value added)) is constant. It then follows from (18) that the profit function is given by

$$\pi(t-s) = \beta y(t-s) = \frac{\alpha(1-\alpha)\beta v e^{v(t-s)}}{[1-\alpha+\alpha e^{v(t-s)}]^2},$$
(19)

where β is a positive constant less than unity which represents the capital share.

The parameters in (19) are set as follows. The capital share is, based on empirical data in the U.S. (cf. Jones, 2016), set to $\beta = 0.35$; it is tentatively assumed that the initial diffusion rate is $\alpha = 0.01$; the diffusion speed is, under the assumption that it takes about thirty years for each product to get a 50% diffusion rate since its birth, set to v = 0.15.¹² It then follows from (18) and (19) that the revenue and profit functions are given by

$$y(t-s) = \frac{14.85e^{0.15(t-s)}}{[99+e^{0.15(t-s)}]^2},$$
(20)

$$\pi(t-s) = \frac{5.1975e^{0.15(t-s)}}{[99+e^{0.15(t-s)}]^2}.$$
(21)

$$d(10) = \frac{0.01e^{30v}}{1 - 0.01 + 0.01e^{30v}} = 0.5,$$

$$v = \frac{\ln 99}{30} \approx 0.153.$$

¹¹ This formalization is consistent with the empirical time series of the diffusion (ownership) rates of typical consumer durables in the U.S. and in Japan (cf. Stefik & Stefik, 2006; Murakani 2017).

¹² It follows from (17) that v is given by



Fig. 3 Revenue and profit

The following figure illustrates these functions; it looks like Fig. 1, which describes product life cycles.

Based on the estimate of the average natural real interest rate for the U.S. (cf. Laubach & Williams 2003), the interest rate is set to

$$\rho = 0.03.$$
(22)

Suppose tentatively that the R&D expenditure function is given by

$$\varphi(\lambda) = 0.1\lambda + 2.5\lambda^2. \tag{23}$$

It follows from (13), (21) and (22) that the profit rate of expected stock of knowledge can be calculated as

$$r = 0.004346.$$

Thus, it is seen from Theorem 1 that the optimal birth rate of a new product, with (23), is given by

$$\lambda^* = 0.01098.$$
(24)

For simplicity, assume that the firm has invented its first product at time 0: $N_0 = 1$ and $s_1 = 0$. It then follows from (15) and (16) that the expected total revenue and its growth rate are given by

$$Y(t) = y(t) + \lambda^* e^{\lambda^* t} \int_0^t y(\tau) e^{-\lambda^* \tau} d\tau,$$
$$g(t) = \lambda^* + \frac{\dot{y}(t)}{Y(t)}.$$

The following figure illustrates the time series of the growth rate with (20) and (24); this shows that the growth rate converges to the optimal birth rate of a new product $\lambda^* = 0.01098$.

4 Conclusion

This paper has examined a general model of firm growth through product innovation in the existence of product life cycles; we have derived the optimal R&D plan for product innovation and showed that the growth rate of the firm converges to the optimal birth rate of a new



Fig. 4 Growth rate

product. It is no wonder that the firm, faced with product life cycles, must keep inventing new products to enjoy sustained growth, but the preceding studies have not thoroughly explored the implications of product life cycles on product innovation; this paper has shed a new light on the mechanism of product innovation with product life cycles.

Throughout this paper, we have stressed that the long-run growth of economies faced with product life cycles is determined by the intensity of demand creation through product innovation. Our approach is consistent with the Keynesian growth theory, which emphasizes the role of effective demand in the long run.

Acknowledgements The author would like to thank the anonymous referees for their comments. This study was conducted as a part of the Project "Sustained Growth and Macroeconomic Policies" undertaken at the Research Institute of Economy, Trade and Industry (RIETI), Japan. An earlier version of this paper was circulated under the title "Firm growth by product innovation in the presence of the product life cycle." This work was supported by Chuo University Personal Research Grant and JSPS KAKENHI (Grant Numbers 18K12748 and 21K13262).

Declarations

Conflict of interest The author declares that he has no conflict of interest.

Open Access This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/.

Appendices

A Proof of Lemma 1

Proof This lemma is proved by mathematical induction with respect to $N \ge N_0$.

For $N = N_0$, it is seen from (3) that since $P(N_0 - 1, t) = 0$ for all $t \ge 0$,

$$\dot{P}(N_0,t) = -\lambda(t)N_0P(N_0,t).$$

With $P(N_0, 0) = 1$, this equation can be solved as

$$P(N_0, t) = \exp\left(-N_0 \int_0^t \lambda(s) ds\right) = \left[\exp\left(-\int_0^t \lambda(s) ds\right)\right]^{N_0}$$

Assume that the assertion of this lemma holds for N. It then follows from (3) that

$$\dot{P}(N+1,t) = \lambda(t)NP(N,t) - \lambda(t)(N+1)P(N+1,t),$$

or

$$\dot{P}(N+1,t) + (N+1)\lambda(t)P(N+1,t) = \lambda(t)NP(N,t).$$

Multiplying both sides by $\exp((N+1)\int_0^t \lambda(s)ds) (= [\exp(\int_0^t \lambda(s)ds)]^{N+1})$ gives

$$\begin{bmatrix} \dot{P}(N+1,t) + (N+1)\lambda(t)P(N+1,t) \end{bmatrix} \exp\left((N+1)\int_0^t \lambda(s)ds\right)$$
$$= \lambda(t)NP(N,t) \exp\left((N+1)\int_0^t \lambda(s)ds\right),$$

or

$$\begin{bmatrix} \dot{P}(N+1,t) + (N+1)\lambda(t)P(N+1,t) \end{bmatrix} \exp\left((N+1)\int_0^t \lambda(s)ds\right)$$
$$= \frac{N!}{(N_0-1)!(N-N_0)!}\lambda(t)\exp\left(\int_0^t \lambda(s)ds\right) \left[\exp\left(\int_0^t \lambda(s)ds\right) - 1\right]^{N-N_0},$$

With P(N + 1, 0) = 0, integrating both sides with respect to time from 0 to t yields

$$P(N+1,t)\exp((N+1)\int_{0}^{t}\lambda(s)ds) = \frac{N!}{(N_{0}-1)!(N+1-N_{0})!} \left[\exp(\int_{0}^{t}\lambda(s)ds) - 1\right]^{N+1-N_{0}},$$

because

$$\begin{split} &\frac{\partial}{\partial t} \Big(P(N+1,t) \exp\Big((N+1) \int_0^t \lambda(s) ds \Big) \Big) = \\ & [\dot{P}(N+1,t) + (N+1)\lambda(t) P(N+1,t)] \exp\Big((N+1) \int_0^t \lambda(s) ds \Big), \\ &\frac{\partial}{\partial t} \Big[\exp\Big(\int_0^t \lambda(s) ds \Big) - 1 \Big]^{N+1-N_0} \\ &= (N+1-N_0)\lambda(t) \exp\Big(\int_0^t \lambda(s) ds \Big) \Big[\exp\Big(\int_0^t \lambda(s) ds \Big) - 1 \Big]^{N-N_0}. \end{split}$$

Hence

$$P(N+1,t) = \frac{N!}{(N_0 - 1)!(N + 1 - N_0)!} \left[\exp\left(-\int_0^t \lambda(s)ds\right) \right]^{N_0} \\ \left[1 - \exp\left(-\int_0^t \lambda(s)ds\right) \right]^{N+1},$$

which implies that the assertion of this lemma holds for N + 1.

B Proof of Lemma 2

Proof Let

$$S_{N_0} = \sum_{N=N_0}^{\infty} \frac{N!}{N_0!(N-N_0)!} \Big[1 - \exp\Big(-\int_0^t \lambda(s)ds\Big) \Big]^{N-N_0}.$$

It then follows that

$$S_{N_0} = \sum_{N=0}^{\infty} \frac{(N_0 + N)!}{N_0!N!} \Big[1 - \exp\Big(-\int_0^t \lambda(s)ds\Big) \Big]^N.$$

Also, we have

$$\begin{bmatrix} 1 - \exp\left(-\int_0^t \lambda(s)ds\right) \end{bmatrix} S_{N_0} = \sum_{N=0}^\infty \frac{(N+N_0)!}{N_0!N!} \begin{bmatrix} 1 - \exp\left(-\int_0^t \lambda(s)ds\right) \end{bmatrix}^{N+1} \\ = 1 - \exp\left(-\int_0^t \lambda(s)ds\right) + \sum_{N=1}^\infty \frac{(N_0+N-1)!}{N_0!(N-1)!} \\ \begin{bmatrix} 1 - \exp\left(-\int_0^t \lambda(s)ds\right) \end{bmatrix}^N.$$

The last two equations imply that

$$\exp\left(-\int_{0}^{t} \lambda(s)ds\right)S_{N_{0}} = 1 + N_{0}\left[1 - \exp\left(-\int_{0}^{t} \lambda(s)ds\right)\right] \\ + \sum_{N=2}^{\infty} \left[\frac{(N_{0} + N)!}{N_{0}!N!} - \frac{(N_{0} + N - 1)!}{N_{0}!(N - 1)!}\right] \left[1 - \exp\left(-\int_{0}^{t} \lambda(s)ds\right)\right]^{N} \\ = \sum_{N=0}^{\infty} \frac{\left[(N_{0} - 1) + N\right]!}{(N_{0} - 1)!N!} \left[1 - \exp\left(-\int_{0}^{t} \lambda(s)ds\right)\right]^{N} = S_{N_{0} - 1}$$

or

$$S_{N_0} = \exp\left(\int_0^t \lambda(s) ds\right) S_{N_0 - 1}.$$

Hence

$$S_{N_0} = \left[\exp\left(\int_0^t \lambda(s)ds\right)\right]^{N_0} S_0 = \left[\exp\left(\int_0^t \lambda(s)ds\right)\right]^{N_0+1},$$

because

$$S_0 = \sum_{N=0}^{\infty} \left[1 - \exp\left(-\int_0^t \lambda(s) ds\right) \right]^N = \exp\left(\int_0^t \lambda(s) ds\right).$$

Thus, it is seen from Lemma 1 that

$$L(t) = \sum_{N=N_0}^{\infty} NP(N, t)$$

= $\sum_{N=N_0}^{\infty} N \frac{(N-1)!}{(N_0-1)!(N-N_0)!} \Big[\exp\Big(-\int_0^t \lambda(s)ds\Big) \Big]^{N_0} \Big[1 - \exp\Big(-\int_0^t \lambda(s)ds\Big) \Big]^{N-N_0}$

$$= N_0 \Big[\exp\Big(-\int_0^t \lambda(s)ds\Big) \Big]^{N_0} \sum_{N=N_0}^\infty \frac{N!}{N_0!(N-N_0)!} \Big[1 - \exp\Big(-\int_0^t \lambda(s)ds\Big) \Big]^{N-N_0}$$

= $N_0 \Big[\exp\Big(-\int_0^t \lambda(s)ds\Big) \Big]^{N_0} S_{N_0} = N_0 \exp\Big(\int_0^t \lambda(s)ds\Big).$

C Proof of Proposition 1

Proof By the mean value theorem, it is seen from (10) that for some $\theta_i, \theta'_i, \theta''_i \in (0, 1), i = 1, 2, 3, 4, 5$,

$$\begin{split} \Delta V = & e^{-\rho(t+\theta_1'\Delta t)} \\ & \left[\lambda(t+\theta_1\theta_1'\Delta t) \exp\Bigl(\int_0^{t+\theta_1\theta_1'} \Delta t\lambda(\tau)d\tau\Bigr) (e^{\theta_1\theta_1'\theta_1''\Delta\lambda\Delta t}\Delta t) \right. \\ & \times + \exp\Bigl(\int_0^{t+\theta_1\theta_1'\Delta t} \lambda(\tau)d\tau\Bigr) e^{\theta_1\theta_1'\Delta\lambda\Delta t} \Bigr] \pi(t+(1-\theta_1)\theta_1'\Delta t)\Delta\lambda(\Delta t)^2 \\ & +\Delta\lambda\Delta t \int_{t+\Delta t}^{\infty} e^{-\rho u} \\ & \left[(\lambda(t+\theta_2\Delta t) \exp\Bigl(\int_0^{t+\theta_2\Delta t} \lambda(\tau)d\tau\Bigr) e^{\theta_2\theta_2'\Delta\lambda\Delta t}\Delta t \right. \\ & + \left(\int_0^{t+\theta_2\Delta t} \lambda(\tau)d\tau\Bigr) \Bigr] \pi(u-t-\theta\Delta t) du \\ & + e^{\theta_3\Delta\lambda\Delta t}\Delta\lambda\Delta t \int_{t+\Delta t}^{\infty} e^{-\rho u} \int_{t+\Delta t}^{u} \lambda(s) \exp\Bigl(\int_0^s \lambda(\tau)d\tau\Bigr) \pi(u-s) ds du \\ & - e^{-\rho(t+\theta_4\Delta t)} \\ & \left(\int_0^{t+\theta_4\Delta t} \lambda(\tau)d\tau\Bigr) [\varphi(\lambda(t+\theta_4\Delta t)) e^{\theta_4'\Delta\lambda\Delta t}\Delta t + \varphi'(\lambda(t+\theta_4\Delta t) + \theta_4''\Delta\lambda) + \varphi'(\lambda(t+\theta_4\Delta t) + \theta_4'\Delta\lambda)] \Delta\lambda\Delta t \\ & - e^{\theta_5\Delta\lambda\Delta t}\Delta\lambda\Delta t \int_{t+\Delta t}^{\infty} e^{-\rho u} \varphi(\lambda(u)) \Bigl(\int_0^u \lambda(\tau)d\tau\Bigr) du. \end{split}$$

Along an optimal R&D plan $[\lambda^*(t)]_{t=0}^{\infty}$, the following condition must be satisfied for all $t \ge 0$:

$$\lim_{\Delta\lambda\to 0,\,\Delta t\to 0}\frac{\Delta V}{\Delta\lambda\Delta t}=0,$$

or

$$\int_{t}^{\infty} \left[\pi(u-t) + \int_{t}^{u} \lambda^{*}(s) \exp\left(\int_{t}^{u} \lambda^{*}(\tau) d\tau\right) \pi(u-s) ds - \varphi(\lambda^{*}(u)) \exp\left(\int_{t}^{u} \lambda^{*}(\tau) d\tau\right) \right] e^{-\rho(u-t)} du = \varphi'(\lambda^{*}(t)).$$
(25)

This is the condition for optimality in (8) in the case of an inner solution with $\lambda^* > 0$. By differentiating both sides with respect to *t*, we can obtain (12).

Deringer

D Proof of Theorem 1

Proof Define

$$V_0^*(t) = \max_{[\lambda(u)]_{u=t}^{\infty}} \int_t^{\infty} \left[\pi(u-t) + \int_t^u \lambda(s) \exp\left(\int_t^u \lambda(\tau) d\tau\right) \pi(u-s) ds - \varphi(\lambda(u)) \exp\left(\int_t^u \lambda(\tau) d\tau\right) \right] e^{-\rho(u-t)} du.$$

Since the planning time t is irrelevant to the value of the right-hand side, the value (if it exsists) is equal to a constant, denoted by V_0^* , for all $t \ge 0$:

$$V_0^* = \max_{[\lambda(u)]_{u=t}^{\infty}} \int_t^{\infty} \left[\pi(u-t) + \int_t^u \lambda(s) \exp\left(\int_t^u \lambda(\tau) d\tau\right) \pi(u-s) ds - \varphi(\lambda(u)) \exp\left(\int_t^u \lambda(\tau) d\tau\right) \right] e^{-\rho(u-t)} du.$$
(26)

Let $[\lambda^*(t)]_{t=0}^{\infty}$ be an inner solution of (8) with $\lambda(t) > 0$. Due to its optimality, we have

$$\max_{[\lambda(u)]_{u=t}^{\infty}} \int_{t}^{\infty} \left[\pi(u-t) + \int_{t}^{u} \lambda(s) \exp\left(\int_{t}^{u} \lambda(\tau) d\tau\right) \pi(u-s) ds - \varphi(\lambda(u)) \exp\left(\int_{t}^{u} \lambda(\tau) d\tau\right) \right] e^{-\rho(u-t)} du$$
$$= \int_{t}^{\infty} \left[\pi(u-t) + \int_{t}^{u} \lambda^{*}(s) \exp\left(\int_{t}^{u} \lambda^{*}(\tau) d\tau\right) \pi(u-s) ds - \varphi(\lambda^{*}(u)) \exp\left(\int_{t}^{u} \lambda^{*}(\tau) d\tau\right) \right] e^{-\rho(u-t)} du.$$

It then follows from (25) and (26) that for all $t \ge 0$

$$V_0^* = \varphi'(\lambda^*(t)).$$

Since V_0^* is constant, it is seen from Assumption 2 that $\lambda^*(t) > 0$ is a constant, denoted by $\lambda^* > 0$, for all $t \ge 0$. Hence, if $\lambda^* > 0$, it is given by letting $\dot{\lambda}^* = 0$ in (12):

$$\frac{r-\varphi(\lambda^*)}{\rho-\lambda^*} = \varphi'(\lambda^*). \tag{27}$$

Let

$$f(\lambda) = [r - \varphi(\lambda)] - \varphi'(\lambda)(\rho - \lambda).$$

It then follows from Assumption 2 that if $0 \le \lambda < \rho$,

$$f'(\lambda) = -\varphi''(\lambda)(\rho - \lambda) < 0.$$

Thus, for some positive $\lambda^* < \rho$ to satisfy $f(\lambda^*) = 0$ or (27), it is necessary (but not sufficient) that

$$f(0) = r - \rho \varphi'(0) > 0.$$

Otherwise, there is no positive λ^* that satisfies (27).

Deringer

D Proof of Theorem 2

Proof Due to the continuity of y and y(0) > 0 (cf. Assumption 1), there exists a $t_0 > 0$ such that y(t) > 0 for all $t \in [0, t_0]$. Given that $\lambda^* > 0$, it is then seen from (15) that, for $t \ge t_0$

$$Y(t) \ge N_0 \lambda^* e^{\lambda^* t} \int_0^t y(\tau) e^{-\lambda^* \tau} d\tau \ge N_0 \lambda^* e^{\lambda^* t} \int_0^{t_0} y(\tau) e^{-\lambda^* \tau} d\tau > 0,$$

where the inequalities follow from $y(t) \ge 0$ for all $t \ge 0$ (cf. Assumption 1) and y(t) > 0 for all $t \in [0, t_0]$. Hence

$$Y(t) \ge N_0 \lambda^* e^{\lambda^* t} \int_0^{t_0} y(\tau) e^{-\lambda^* \tau} d\tau \to \infty,$$

as $t \to \infty$. Because of the boundedness of y and \dot{y} (cf. Assumption 1), it follows from (16) that

$$|g(t) - \lambda^*| \le \frac{\lambda^* [N_0|y(t)| + \sum_{i=1}^{N_0} |y(t - s_i)|] + \sum_{i=1}^{N_0} |\dot{y}(t - s_i)|}{Y(t)} \to 0,$$

as $t \to \infty$.

References

Aghion, P., & Howitt, P. (1998). Endogenous growth theory. MIT Press.

- Aoki, M., & Yoshikawa, H. (2007). Reconstructing macroeconomics: A perspective from statistical physics and combinational stochastic processes. Cambridge University Press.
- Arrow, K. J. (1962). The economic implications of learning by doing. *Review of Economic Studies*, 29(3), 155–173.
- Artz, K. W., Norman, P. M., Hatfield, D. E., & Cardinal, L. B. (2010). A longitudinal study of the impact of R&D, patents, and product innovation on firm performance. *Journal of Product Innovation Management*, 27, 725–740.
- Day, G. S. (1981). The product life cycle: Analysis and applications issues. Journal of Marketing, 45, 60-67.
- Dinopoulos, E., & Waldo, D. (2005). Gradual product replacement, intanible-asset prices and Schumeterian growth. Journal of Economic Growth, 10, 135–157.
- Grossman, G. M., & Helpman, E. (1991). Innovation and growth in the global economy. MIT Press.
- Jones, C. I. (1995). R&D-based models of economic growth. Journal of Political Economy, 103(4), 759–784.
- Jones, C. I. (2016). The facts of economic growth. In J. B. Taylor & H. Uhlig (Eds.), Handbook of Macroeconomics (Vol. 2, pp. 3–69). North Holland.
- Keynes, J. M. (1936). The general theory of employment. Interest and Money: Macmillan.
- Klein, M. A., & Şener, F. (2021). Product innovation, diffusion and endogenous growth. *Review of Economic Dynamics*, 48, 178–201.
- Klepper, S. (1996). Entry, exit, growth, and innovation over the product life cycle. American Economic Review, 86(3), 562–583.
- Laubach, T., & Williams, J. C. (2003). Measuring the natural rate of interest. *Review of Economics and Statistics*, 85(4), 1063–1070.
- Murakami, H. (2016). A non-Walrasian microeconomic foundation of the "profit principle" of investment. In A. Matsumoto, F. Szidarovszky, & T. Asada (Eds.), *Essays in Economic Dynamics: Theory, Simulation Analysis, and Methodological Study* (pp. 123–141). Singapore: Springer.
- Murakami, H. (2017). Economic growth with demand saturation and "endogenous" demand creation. *Metroe-conomica*, 68(4), 966–985.
- Pasinetti, L. L. (1981). Structural change and economic growth. Cambridge University Press.
- Romer, P. M. (1990). Endogenous technological change. Journal of political economy, 98(5), 71-102.
- Seggerstorm, P. S., Anant, T. C. A., & Dinopoulos, E. (1990). A Schumpeterian model of the product life cycle. American Economic Review, 80(5), 1077–1091.
- Schumpeter, J. A. (1934). The theory of economic development: An inquiry into profits, capital, credit, interest, and the business cycle. Harvard University Press.

- Solow, R. M. (1957). Technical change and the aggregate production function. *Review of Economics and Statistics*, 39(3), 312–320.
- Solow, R. M. (1997). Is there a core of usable macroeconomics we should all believe in? American Economic Review, 87(2), 230–232.

Stefik, M., & Stefik, B. (2006). Breakthrough: Stories and strategies of radical innovation. MIT Press.

- Tobin, J. (1969). A genaral equilibrium approach to monetary theory. *Journal of Money, Credit and Banking, 1*(1), 15–29.
- Uzawa, H. (1969). Time preference and the Penrose effect in a two-class model of economic growth. *Journal* of Political Economy, 77(4), 628–652.

Yoshikawa, H. (1980). On the "q" theory of investment. American Economic Review, 70(4), 739-743.

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.